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You must have: Ruler graduated in centimetres and millimetres, Total Marks
protractor, pair of compasses, pen, HB pencil, eraser, calculator. E’)/(j
Tracing paper may be used.

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.

Answer all questions.

Answer the questions in the spaces provided

— there may be more space than you need.

You must show all your working.

Diagrams are NOT accurately drawn, unless otherwise indicated.
Calculators may be used.

If your calculator does not have a z button, take the value of 7 to be
3.142 unless the question instructs otherwise.

Information

The total mark for this paper is 80
The marks for each question are shown in brackets
~ use this as a guide as to how much time to spend on each question.

Advice
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Read each question carefully before you start to answer it.
Keep an eye on the time.
Try to answer every question.
Check your answers if you have time at the end.
Turn over
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.
1 (a) Simplify 5p-3p+p

(b) Simplify m® + m’

_ Y |
(c) Simplify 10@@039’) i v |
Ml o ' i
10+ 6d — 4-C Rt I
Al

(Total for Question 1 is 4 marks)

2 Write 56.78 correct to one significant figure.
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_ (Total for Question 2 is 1 mark)
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A teacher asks the students in Year 6 what type of transport they use to get to school.
The dual bar chart shows some of the results.

10
Frequenc ° % ,//// Key:
4 _ 7 /;f"fl : — - | boys
341 Z Z jf =] ’ girls ///
NN om
(1321: Ellgs V\!’aél: (;Ezcle Ogler

(a) What is the most popular type of transport used by the boys?

7 girls walk to school.

(b) Show this information on the dual bar chart.

More of the students get to school by car than by bus.

(c) How many more?

The number of students in Year 5 is the same as the number of students in Year 6
(d) What is the total number of students in Years 5 and 6? _ = 3
Y )l cd-femply Jo

Totel Year 6 = 48 n ‘ ﬂ\t‘\i"!c(:h s cﬁu\
- ~ “ ool C\f -
G TSl Yeor S = WF ;

e Y6 |

V;‘)\ ' Ca ©
(Total for Question 3 is 5 marks)
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- 4 Here are four fractions.

Write these fractions in order of size.
Start with the smallest fraction.
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(Total for Question 4 is 2 marks)
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5 David sells CDs in a shop.

The tally chart shows information about the number of CDs David sold
on Monday, on Tuesday and on Wednesday.

Tally Frequency |
Monday m M1 | 12
| Tuesdey H\LLH\I\LFH\L HI 18

Wednesday H\LL [ | | 8

(a) Write down one thing that is wrong with the tally chart.

David drew this pictogram to show the information for Tuesday and Wednesday.

:'Iilesday CDCD@@@ | - P E—-
] Key: CD represents 3 CDs
Wednesday @ @ G — |

(b) Write down one thing that is wrong with this pictogram.

......................... Juxadoxijdl\mulfwfsJouius\r\ovlc\lﬁcxwo-% '

............................................................................................................... B el e e, | ......... i (”i\h b ‘\
eR . D=3 s d=10S
_ _ (Total for Question 5 is 2 marks)
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6 There are 495 coins in a bottle,

1
5 of the coins are £1 coins.

124 of the coins are 50p coins.
The rest of the coins are 20p coins.

Work out the total value of the 495 coins.

wg\/;fﬂgfﬂs *—;f/IQ,S 165 x &1 = £16S

Bl <t 1S or 62
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l6s 12 b = 2571 COMs oy
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(Total for Question 6 is 4 marks)
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7 The probability that a new fridge has a fault is 0.015

What is the probability that a new fridge does not have a fault?

| —O-OIS = O-9%S

(Total for Question 7 is 1 mark)

8 Here is a list of numbers.

21 2 @@@3 26 27 28@

(a) From the numbers in the list, write down a square number.

= |
Y
(c) Write down all the prime numbers in the list.
>
Gy 2 '.
23 ,2 /) (L;c‘}f“"\ i
_____________________________________________ T s
) 1% \(‘\r.&('(:

~ (Total for Question 8 is 3 marks)
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Find the value of x.

ol

.((-,1,'{\3 (el c’o - ""‘ QC_L@ + 3 :Lo : 3 60

I=1 }_L-u—_h‘("\ _ 90
M\ a Cco rrect <0 + S = 56@ [
rwy (S rec
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(Total for Question 9 is 3 marks)
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10 Suha is going to buy 150 envelopes.

Here is some information about the cost of envelopes in two shops.

| Letters2send 1 Stationery World |
' Pack of 25 envelopes for £3.49 ' - Pack of 10 envelopes for £2.10
! | Buy 2 packs get | pack free |

|

Bl eithe 6or IS Sear

Suha wants to buy the envelopes as cheaply as possible.

Which shop should Suha buy the 150 envelopes from?
You must show how you get your answer.
PN Q/LJ

e

8 | ‘Packy needed = 50 = /PCACIK_\ reeded = 139 = 15
L) -l
6 X ‘ij" @ = ,éozo C1 BUUD wo /Pc\s.jﬂ S‘éj“ S

[T TIXTX X D
c;fki,_:i)k,_?\) +< BOGEOCF C'Ieiuu‘\ (Pga ,-ﬁ,,/ | Pod() . 6{"‘ S{FQ_Q

| At ik B v S0 [0 % Zdelo
a1 f,)th\*lg .;Z)O L < | 9%02’ o
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GU\L\U\ Kj\\ow\@\ hoo, he- Q—“\chs’?eis "F‘m Lettors o thcx
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_ (Total for Question 10 is 4 marks)
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- 11 You can use this graph to change between inches and centimetres.

£

140

centimetres

inches

(a) Change 74 cm to inches.

ZC] inches
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Daniel’s height is 6 feet 3 inches.
1 foot = 12 inches

(b) What is Daniel’s height in centimetres?
X<IiL

’F‘;&Jr T T s
6 feet % 12 = A 2inches
g @cxh‘?-e% Lveic)l'd‘ N Fd +3:?§h1@5‘%&5

SO Gncbkes = 129 cm
A5 ks =

m |

(avirech

Co e 7"&’ g
(M| -S(;-.y\SiU e L « (’\'l

( (j‘r E.z_'.?‘f\
G Sem .

- ’j_\ :\ ......................................................
TS Tnches = 1T1050m

e ' %Cl = ‘C’I Z

centimetres |

(Total for Question 11 is 4 marks)
| 12 Find the value of M{
(6.8 + 0.06)

Write down all the figures on your calculator display.

= N Bl St 191 o ©'F6Seen
/ 7 -(éps'e)'*

% #
e she D -

O.0333035% % O
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(Total for Question 12 is 2 marks)
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13

(a) Rotate shape A 90° clockwise about centre O.
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(b) Describe fully the single transformation that maps triangle B onto triangle C.

.. fcfkdﬁe{ﬁ e “:j——cwr\n ek = Qm)

'\.,\\L

" ____________________________________________ Bl 1 — |

nete  5f meve Fhae. eee  (Total for Question 13 is 4 marks) |
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14 (a) Factorise 5— 10m

(b) Factorise fully 2a’b + 6ab’

(250 +@x36Bb
M\ Ckn\ul corect {ct“\ =

A\ {«\,\\O Covrect fact

~ (Total for Question 14 is 3 marks)

15 (a) Write 4.7 x 107" as an ordinary number. \
i "f;

~£-l0 ovice

(b) Work out the value of (2.4 x 10%) x (9.5 x 10%)
Give your answer in standard form.

= 228500060000 M|
= Qs LS X \i

.Gr

o g "N N —
0 xGeS =225
k- § '3\/

Origrves vV (Total for Question 15 is 3 marks)
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16 A, B and C are three points on a map.

Bl toe £ 2-Sam o rediW sf givele

1 cm represents 100 metres.
—vele p.ck;lw) 2°50m

Point 7'is 250 metres from point A. 250m= 2-Sacm ‘

Point 7 is equidistant from point B and point C. - byector c‘{: BC P
r-'_) . o . % 5t e .‘ " < ) = L)‘3\&k L‘
| Rl o vrvex l\) ' \

On the map, show one of the possible positions for point 7. o BT

~(Total for Question 16 is 3 marks)
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17 The table shows the probabilities that a biased dice will land on 2, on 3, on 4, on 5 and on 6

éNumberondice: 1 ‘ 2 3 4 5 ' 6
| i el

|0 3\ 017 | 018 | 009 015 | 01

' Probability

Neymar rolls the biased dice 200 times.
Work out an estimate for the total number of times the dice will land on 1 or on 3

?((P.owcls o 1)-— | - (017 +0:15 +0-09 +6 IS +O- |) .
vdc.'_(‘::)__, l___ 0“6"&] |

"_])‘ (“_4,((\' =

= (\ P"b -
g { = O-31

Cencly (\.l
= O-31+0-1&

- O«

Q( Q_Ck.\d-s i 1 oV 3)
p“ Corbirey PC\)CHK 3{3)

2650

( ,9\.

cund \"\ul"\[)l\tg o

. AR Gred
-—/J\ \ C G

(Total for Question 17 is 3 marks)
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18 On Saturday, some adults and some children were in a theatre.
The ratio of the number of adults to the number of children was 5 : 2

Each person had a seat in the Circle or had a seat in the Stalls.

% of the children had seats in the Stalls.

117 children had seats in the Circle.
There are exactly 2600 seats in the theatre.

On this Saturday, were there people on more than 60% of the seats?
You must show how you get your answer.

S childven StRIL

Eh&lh léh&lls l Stedly | @i rcl:\ B (_j L\_,_; ) L '(c:fb
€13 —> .

Cest=Q N IAren = 117 = G-
= (L 6F

P Al B =
A‘c\m,\h_\, ! i ldren Pv eSS ,1“ (Lg\’ ’
=+ - = lg(k (c\ K Cf\f i \c.\,v’\f--\
' A‘ A | A] s l A& el a3 ot
_J)——,_;—t;%g"’ = Wm W a

tot=C ol s = 236 =3
— 19O

¥ #Q P ch,&_\ e ﬁ‘eﬂa—Q C\./LU._Q./{S
/"
— b T o 190”

ek Festel
Mt fe B0 - [e3s

Toted at thesbre =

2600

Ves, mave Hran 6o (63%) of seets were ke, )

(Total for Questmn 18 is 5 marks)
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19 The diagram shows a prism with a cross section in the shape of a trapezium.

0.5m

i

/ side

On the centimetre grid below, draw the front elevation and the side elevation of the prism.
Use a scale of 2 cm to 1 m.

front

L J%| ( ,G',.\—t )
P2

fS l nNeg "]Ti?,\.‘vj\‘t-':

'/"Fv*oﬁt | ' | Side | | Colvredt “.{3 j‘
7% ¢ I CAt \c-l o »-"\\Q-u'(i PN YN
]‘3 ’ CoOvvrec) "Ij)\(\('-:f:&:_ A _ .

N~ ) evide . (ﬁ.k*f@'-ﬁ ~

i J-%-' Cos( recd | Y j&

(Total for Question 19 is 4 marks)
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20 Olly drove 56 km from Liverpool to Manchester.
He then drove 61 km from Manchester to Sheffield.

Olly’s average speed from Liverpool to Manchester was 70 km/h.
Olly took 75 minutes to drive from Manchester to Sheffield.

(a) Work out Olly’s average speed fdr his total drive from Liverpool to Sheffield.
r

I » My |
D= S6km | D=elkm
.- ; T = IS rmanS
5 — ’?Okr“]h [ — lU‘lS hOL\-fS

ASe ¢ { {\ il | = % | 5 o _];?_.-

fo el B , =7 T

Fodken~ L=S5M = _.:§__£3— { |
35 | = 0

M\ o e
— O~ hours — F = K"“‘/l’“

NN

—— Al o

= e e ) ) ‘ l‘q‘ . : - > |
B\ D_ S+ & | T = O«& 4|25 T — SHe (33(')
- | Bl 2205 _km/h |
S celoddafes = e < = 2-0S5 hows MONTT
“ et ABfante AN NN N ane. SeNYible
a Janie drove from Barnsley to York. cedlecleates - Jcl(j(‘ B I
D= TRV VR
Janie’s average speed from Barnsley to Lecds was 80 km/h. o

Her average speed from Leeds to York was 60 km/h.

Janie says that the average speed from Barnsley to York can be found by working out the
mean of 80 km/h and 60 km/h.

(b) If Janie is correct, what does this tell you about the two parts of Janie’s journey?

............ /ﬂ'\dﬂ\:b\mﬂ,’ﬁf O D New T2 Leealy oz

........................... ﬁa
< ;:U,;Q_ ..... = '_L’L\:&\N*- ................... ... lt&cﬂil‘tn\fc:wﬁ(;‘

(Total for Question 20 is 5 marks)
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21

Qb

cm

E

Q- 1T~ D S ~bcm C

ABC and EDC are straight lines.
EA is parallel to DB.

EC=8.1 cm.
DC =54 cm.
DB =2.6 cm.

(a) Work out the length of AE. ) .
lergth Seele fcter = I-5 B |

AC=6.15 cm.

AE = - 6xI-S

= J=*7
__________________ S0
(b) Work out the length of AB.
B = 6-IS — I8
AB = 615 —( ) Al
= 208 - OS5

(Total for Question 21 is 4 marks)
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22 Anil wants to invest £25000 for 3 years in a bank. !

Personal Bank Secure Bank
Compound Interest ‘ Compound Interest
2% for each year ‘ 4.3% for the first year

0.9% for each extra year

Which bank will give Anil the most interest at the end of 3 years?
You must show all your working,.

' "Ressone® Bamk: L£2s000 x fO& =~ é.l% /{f’@ 20 | |

S!:‘_S;Lx._"(-i &.L_m . /Z'J\SCCE! b L @ Y/ BN b ('DQC] = éi% i@/\_ﬁ(:_i
?E 5\\‘ CLVI‘\&‘“) F(,_L. ‘JL(‘ | | ‘}ﬂfl‘)

Vr/;;:jaf\’;élscob - #s00 2zl 3% f £250c0s Zlods

,fZ,SCC)o 4 ESco - ZLZS—SQCJ ,’625“0:30 4 1038 = X266 7S
y2 2 of d25s00= Esi10 ¥2 -9y of £2607s = 23 €73 1

' 230 635 = £2636R- 675 |

T 425 s00 + S0 = A26©10 £26071S A2¢, 1

.Zu:,o\o _+,£5 20:20 = ,éze,sjo 28) | /26301 673 +£236-787 < fggsugute

; 3 2% of Axocio = £520- 20 Y.i o~ K of X263059-65 123657

e st @cu.v-\d pt [5 t,__/\v |

TN i |

éc:c_c.m bade (c Nves —the Mc:>3¥ e eyt C.,é 16 . 26 More |

|

tl"‘c}——r\ /me_‘n'"\ﬁ-—Q 36‘-—’"’*‘“) C L__\f\\(’ 1 4 k\&);t_ \rl‘:I \’\‘1 ‘i ‘!l . bs(‘vj\L S |

7&\, l L)‘A\,\ LV \\,K“ w3 de) vvu.P(Su;w‘"' y x DL A’ el |
_ Carrec] ) (Total for Question 22 is 3 marks) . ‘

23 A number, #, is rounded to 2 decimal places. |
The result is 4.76 ]

Using inequalities, write down the error interval for n. | |
'ZB\ .m:",\Lk end cormt

Cav mk\' l\f\\ (r\«‘t_) _Slc_)\.rxb

(e 7SS < < (+TF6S5

(Total for Question 23 is 2 marks)
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'.Pl Cavrect praeess o {“"}'CM\“. L

i .-‘f\:hl(\v
(x+8)a—3)=0

24 Solve x*+5x-24=0

M| cofved '_J[Ln‘,]

= \L‘I v 3= (l
X+E=9O o Tl =
X =% X =3 A ki,

D W o e s N W e — b
Valve s n'{

X orvecth | 2

~ (Total for Question 24 is 3 marks)
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25 Here are the first six terms of an arithmetic sequence.

-2 3. .8 13 18 23 _ 28
— '/’ 7.)

— P | ~—_ T ~=
, . 4_’ 5 + 5 + 3 -+ S 4~ 5
(a) Find an expression, in terms of n, for the nth term of this sequence.

Bl Sk

The nth term of a different sequence is 3rn®
Nathan says that the 4th term of this sequence is 144

(b) Is Nathan right?
Show how you get your answer.

N=ht , J X e
-3 = b
C‘L—’%‘,

No NDCH»\LU\ ris r",@'\" v T:jl\{ o '{TJ"&
(G e~ Y WLE

i
Oune 7)[ [% C}ri L)\k

=l ) |
Seplovedse |

\\

(Total for Question 25 is 3 marks)

TOTAL FOR PAPER IS 80 MARKS
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